

Auvice for giving ereas												
Sl. No. – site bills				Date	- site bil	18	1018	21				
register	-H	98 -		Regis			16/8/21 G.M.R.					
Company Name:	MRMI	LP.		Site:			GLAN	N				
Name of Contractor		andha	. P.	earde								
Nature of work			Jose									
Work done		From Date			To	Date	06-	08-21				
Sl. Villa/Flat/block n			Rate		Units	Amou	nt	Contractors bill no				
No.								UIII IIC				
1. ASSUA Hocsing 1660 SFT	(68%)	1128	1	3 .	SFT		664					
2	21%	348		3	RET		524.					
3. SRUA 1660 SFT		128	(04	SET		,512.					
4. Skisting 5		348		DY	RFT	1	,392.					
5	toilel	400		6	SFI	E	,400					
6. Cesamit (93	1	.93		14	SET		1302.					
7.						32,70						
8.							1					
9.												
10				<								
11. 7	otal:					32	194.					
Bill required		UYES D'NO.			GST bill require			INO.				
Measurement &	Requir				surement		Enclo					
estimate sheet:	□ Not re				ate sheet			nclosed				
PO/WO no.		quirea		PO/V	VO date:							
Remarks : A	L		1	<u> </u>								
Remarks: All works Completed.												
			-	,								
Approved by Project Ma	anager	Appro	oved b	y Des	ign Tean	n Ap	Approved by M.D.					
Date: $078(2)$	al	Date:				Da						
Sign:		Sign:				Sig	Sign:					

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

ESTIMATE SHEET							
Company Name:	MRMLLP				Ар	proved by:	Ramprasad
Project:	Gulmohar Residen	cy				Sign:	
Work Description:	4' X 2' flooring tile	s and bathroom tiles laying	in B-402				
Contractor Name:	Janardhan Prasad						
Prepared By	Srinivas.N						
Date:	07.08.21						
	T			TT. 14	Rate	Amount	
S No.	Item Head	Item Description	Quantity	Units		14,664	
1	vetrified flooring	SBUA 1660sft (68%)	1128.00		13.00		
2		Skirting 21%	348.00		13.00	4,524	
		SBUA 1660sft (68%)	1128.00	Sft	4.00	4,512	
		Skirting 21%	348.00	rft	4.00	1,392	
3		(200sft per toilet)	400	Sft	16.00	6,400	
4	Ceramic	(93sft per flat)	93	Sft	14.00	1,302	
						32,794	
			10 I	N 11			

											S No.			Date:	Prepared By	Contractor Name:	WOR Description:	Word	Project:	Company No-	MEASUREMENT STTE	
						Kitchen & willie.			10-T02	R_A02	Item Used		07.08.21	STITIVAS.N	Criminal Flasad	Janandhan Denga J	4' X 2' flooring tiles and	Gulmohar Residency	MRMLLP	INCE		
					(93sft per flat)	(200sft per toilet)	Skirting 21%	SBUA 1660sft (68%)	vetrified flooring	Item Description						Janandhan Barra and Dathroom tiles laying in B-402						
		,			93.00	200.00	348.00	1128.00		Length	A											
dimension of the second					1.00	1.00	1.00	1.00		Width	В											
					1.00		1.00	1.00		Height	C											
					1.00	2.00	1.00	1.00		Nos	D						Sign:	Cion:	Annroved hv			
					93			1128		Quantity	E = A x B x C x D						2 Martine Contraction	Internet	Ramprasad			
					3 sft) sft	8 Rft	8 sft	sft	Units		1	T									
Particles and subtration				AND									26								and the second second	

Bill for Labour Charges

Jardhan Prasad, Neradmet.

Date: 07.08.21

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in B- 402 flats at B-block . Total Amount = 32,794/- Work	Rs. 13,117 /-
	done from date 25.07.21 to date 06.08.21	

Amount in words: Thirteen Thousand One Hundred and Seventeen Rupees Only.

Sign: UT-11521 St UIS

Allowance for Consumables

Janardhan Prasad, Neradmet.

Date: 07.08.21

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in B- 402 flats at B-block . Total Amount = 32,794/- Work done from date 25.07.21 to date 06.08.21	Rs. 13,117 /-

Amount in words: Thirteen Thousand One Hundred and Seventeen Rupees Only.

Sign: (मनाइन प्रसार

Bill for Equipment Allowance

Janardhan Prasad, Neradmet.

Date: 07.08.21

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Tiles work
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in B- 402 flats at B-block . Total Amount = 32,794/- Work done from date 25.07.21 to date 06.08.21	Rs. 13,117 /-

Amount in words: Thirteen Thousand One Hundred and Seventeen Rupees Only.

Sign: Unotisr 961s

Aughen & Could